


) Deamo. knows that the +loor in her KiTcheres
0 square with an area of 324 £4°% What (53
the PERIMETER of hev vidchen floor ’

2) jOCy won’s o pu\' a fence avound THREE gicl
of o S4quave qavden tha} has an area df 225
Squave feet. How much fencing dees he need:

b) The James Family has a h)?’ Hat i's 132 §32
\nave 3 lbedvooms In thelr huse. Room# | 1g

Il Feet. Room¥2 is 10 X {2 feet. Room® 3 s
13x13 Feetr. Which oom(s) wyll the rug At in?

They

4) A square Compu lev 1c0n containg b6 pixels,
How “mony pixels +all is the icon? E







Solve ¥he c%uo\h‘om WAING TNET 1T waii 1GNG |

method and Show! ng a\l“Yhe iNvevrse
Of€vahuns.

\) QX -1 = 5'

2) X .y =
-+ y




